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ON3 | Test?

1¢ Write in digits 7 of 1 million.
3 1.06-079=

‘4 480mm = xm

11

5 2 of 30p =
6 905+100=
2y '1"% of £2.00= p

b 9% of £3.00= ©p
£0.04 x 50 =
2h+35min= h min
265i= ml
19p+7p+5p+8p=1=L

3 _
4><8—

2

Write as a decimal the sum of
-9 tenths and 37 thousandths.

Find the two missing numbers
in this seguence.

70,7, . 0.07

What is the average of 15cm,
+m and 17cm?

Increase £7.5C by 10%.

By how many twelfths is ?% less
than 237

Write in 24-hour clock times.
a 18min hefore noon
b Th after 7.57 p.m.

Find the difference between
& of 25 and § of 45,

5% of a sum of maney is £0.40.
Find the whole amount.

Approximate
a 10.25i to the nearest litre
b £439.87 to the nearest £.

Find in millimetres the length of a

_line 15mm shorter than AB.

17.7cm

g

$.837

alidaz

b 20:27

it

£8.00

a_..... W0l

b £2440

A

What is the cost of 800g at
90p per kilogram?

The area of a rectangle is 66%cm2.
The width of the rectangle is 7cm.
Find its length.

1
_Bzcm

38

10

i

)

Schofield & Sims

Write in words the number which
is equal to

(3 x 10%) + (6 x 10%).

There are 60 cards in a packet.

There are 12 packets and 17 cards

left over. How many cards are

there altogether? ) ] Y

A bill for £4.23 is paid with a £5 note.
Name the four coins given as change.

i oo, L s g P oedas b R S
three thousand six hundred

i

e2Up
ABC is an
isosceles triangle.

20p =p Zp

Find the angle at B

and the angle at A.

How many years apart are these two
years written in Roman numerals?
MCMXLY  MCMXXXIX

Give your answer in digits. S £

A plank of wood 7.5m long is cut
into two parts so that cne part is
four times as long as the other.
Firid the length of each part.

Which train,
Aor B, is the
quicker and
by how many
minutes?

Train times

Arrive
12:35
18:00

Depart
Al 10:45
B, 16:18

e

by ~ 8min

The total mass of 12 parcels of equal  ~
mass is 5.4kg. Find the mass of

a four parcels in kilograms and grams a
f» cne parcel in grams. b

kg BiOg

L AsGg
The rectangle X has two axes of

symmetry. How many axes of
symmetry has

a rhombus Y
b the equitateral triangle 27

[T I

The drcumference of a wheel is 45cm.
How many times will it turn in
going 450m?

-
b3

-

By how much is it cheaper to pay

for a coat priced at £25 with a

discount of 10%, than with a

discount of 8p per £1? e B0P

The radius of this
circle is 0.9 cm.
Find the length of

theline XY inmm. __ 18mm
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10
1
12

11

12

© Write in digits 1.1 million.

1160000

£0.81 =two 20ps+ three 10ps+ =~ p ip
807 x6= L 4847
1.8km+450m= km m Zkm . 250m
50% of 1.89kg = g 9569
275+7= T - N g 2
105 -10% = 500
ai= % a 60%
bl % b 90%
£10-2 x 46p)=£ £8.08
1130'*'%"'"11(1: 25
15—  ml=600ml 200ml
£017 x 8= £1.38

Find in degrees the reflex angle to

a 85° _ a 275°
b 1482 ' b 2120
How many 50g cans have a total

mass of 2kg? 7 40
Decrease £3.50 by 4%. £3.36
Approximate

a 91 870ml to the nearest litre a L
b 3.56kg to the nearest Txg. b  3skg

What was the date 6 manths

before 1 March 20007 1 September 1599

Divide nine hundred and seventy-two

by nine. 108
a 5% of £6.00= p a L
b 15% cf £6.00="p b JG0p
How long would it take to travel
S56km at a speed of 7km perhour? . _.5Bh
Find the cost of 1.751 at 60p per fitre. £1.05
Divide a length of 48cm into two
pieces so that one is twice as leng
as the other. dZem . ieam
What fraction in its lowest terms is
a £27 of £36 as
n £250 of £207 bz

Find the area of

the smallest square

into which the

circle can be fitted. ASamy

39

10

1

12
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There were 3500 spectators at a
football match. 30% were women.
How many women were there?

A botile holds 300mLl. Find in litres
the contents of 12 bottles.

In the diagram there are 100 small
squares. Find as a fraction in its
simplest form the part which is

a patterned & a
b unshaded [ ] . . b
C

¢ shaded. E4
T x

3.75 x 8 = 30. Write the answers to

a 375x8 2.
b 300

b 375 x 80,

A holiday started on 25 August and
ended on 7 September. For how many
days did the holiday last?

What fraction in its simplest form
is eguivalent to

a 06
b 0167

The mean mass of three parcels is 6kg.
Two of the parcels have a mass of
4.6kg and 6kg. Find the mass of the
third parcel.

A o A sheet of

i plywood 26Cm

#= by 8m is cut into
strips 2cm wide.

Find the total length of the strips.

Tml or 1cm? of water has a mass of 1g.
Find the mass of water in kilograms

5 in a can which holds 131 a
b in a tank the volume of which

is 6400cm?3, b B

Seven b_uns cost £2.47, Find to the
nearest penny the cost of one.
The circumference of the wheel is 1.5m.

. How many metres will
\ the wheel travel in

The price of 5kg of potatoes was
increased from 30p to 36p. Find the
Increase as a fraction in its simplest
form of the original price.

3 10 turns a..
b 100 turns? b

2600

SR W, HIPY)
gy

7.4kg

o dsm
150m




